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QUESTION 1

What catch-phrase best describes SAP\\'s software maintenance strategy? Please choose the correct answer. 

A. "3-3-1 maintenance" 

B. "5-1-2 maintenance" 

C. "4-2-2 maintenance" 

Correct Answer: B 

 

QUESTION 2

Which of the following Oracle parameters should never be modified in the file init.ora? There are 2 correct answers to
this question. 

A. row_cache_cursors 

B. db_block_size 

C. shared_pool_size 

D. db_block_buffers 

E. db_name 

Correct Answer: BE 

 

QUESTION 3

You are a transport administrator for an AS ABAP-based SAP system landscape. In the import queue of a 

single SAP system, you select multiple transport requests to be imported together. What happens when 

these transport requests are imported? 

There are 2 correct answers to this question. 

Response: 

A. If an object is included in more than one transport request, only the version in the last transport request is
activated/generated (according to the sequence in the import queue). 

B. If an object is included in more than one transport request, it is first stored in the shadow repository. You can then
activate/generate selected versions from the shadow repository later. 

C. If an object is included in more than one transport request, you can specify which object version will be
activated/generated using unconditional (import) modes. 

D. The objects in the first transport request are imported and activated/generated first, then the objects in the second
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transport request, and so on. 

E. All objects in all the selected transport requests are merged together 

Correct Answer: AE 

 

QUESTION 4

In what profile can you change the number of background work processes? Choose the correct answer(s). 

A. Start profile 

B. Default profile 

C. Background profile 

D. Instance profile 

Correct Answer: D 

 

QUESTION 5

Which data sources are supported by the User Management Engine (UME) of AS Java? There are 3 correct answers to
this question. 

A. The database of the AS Java 

B. An UDDI provider 

C. A client of an AS ABAP-based SAP system 

D. A file on operating system level (secure store) 

E. A Directory Server (via LDAP) 

Correct Answer: ACE 

 

QUESTION 6

When working with property variants in CCMS monitoring, which of the following statements are true? 

There are 2 correct answers to this question. 

Response: 

A. Property variants can be activated manually. 

B. Property variants cannot contain more than 99 performance attributes and their settings. 

C. The property variant "SAP_DEFAULT" is the parent variant for property variant "*". 
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D. For each client, you can choose another property variant as the active variant. 

Correct Answer: AC 

 

QUESTION 7

The SAP authorization concept is a positive concept because ...Choose the correct answer(s). 

A. Every user automatically receives all authorizations. 

B. Authorizations must be explicitly assigned. 

C. The range of features of the authorization check is so large. 

D. The developers programmed it efficiently. 

Correct Answer: B 

 

QUESTION 8

Your customer is configuring a Central User Administration (CUA) in AS ABAP connecting to multiple child systems.
Changes of the attribute "mobile telephone number" in the user master record in one child system should be transferred
to the other relevant child systems. Which setting for the attribute "mobile telephone number" in parameters for field
distribution via transaction SCUM (Central User Administration) do you use to fulfill this requirement? Please choose the
correct answer. 

A. Global 

B. Redistribution 

C. Everywhere 

D. Local 

Correct Answer: B 

 

QUESTION 9

During the update of AS ABAP-based SAP systems, the SAP Software Update Manager (SUM) executes 

a SPAM version check. 

Based on the result of this check, which options are offered? There are 2 correct answers to this question. 

A. Import Modification Adjustment Transport 

B. Switch to expert mode 

C. Skip SPAM update 

D. Search for newer SPAM version in ,,...EPS\in"-directory 
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Correct Answer: CD 

 

QUESTION 10

Which of the following statements about the required RFC connections in CUA are correct? Choose the correct
answer(s). 

A. The RFC connections must be specified entirely in uppercase letters and must be identical to the name of the
addressed logical system. 

B. The user in the RFC connection must be a dialog user. 

C. An RFC connection from the child system to itself is required. 

D. An RFC connection from the central system "to itself" is required. 

E. Certain roles for the communication users are required only during CUA setup, and can then be removed from the
relevant user master records. 

Correct Answer: ADE 

 

QUESTION 11

When maintaining the user distribution field selection (transaction SCUM), you can choose which of the 

following options? 

There are 3 correct answers to this question. 

Response: 

A. Fixed 

B. Local 

C. Central 

D. Redistribution 

E. Global 

Correct Answer: ACE 

 

QUESTION 12

Which of the following are features of SAP Identity Management (IdM)? Choose the correct answer(s). 

A. Integration of the different databases of SAP and non-SAP systems 

B. Compatible with integrated SAP NetWeaver security frameworks 
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C. Performs as a Lightweight Directory Access Protocol (LDAP) connector 

D. Integration with SAP NetWeaver platform and business applications 

Correct Answer: BD 

 

QUESTION 13

What does dex fragmentation in the Oracle database mean? There are 2 correct answers to this question. 

A. The dex root block is fractured. 

B. The fragmentation of nadex specifies how well the space is used in nadex. 

C. The index leaf blocks are spread over several table spaces. 

D. Tem smaller the space that is actually used in companson with the total available space, the more fragmented the
index. 

Correct Answer: CD 

 

QUESTION 14

Where does AS Java store its log files (using \\'/\\' as delimiter of directories)? (Choose correct answer) A. In the cluster-
node-specific directories 

B. /usr/sap///j2ee/cluster//log 

C. In the instance-specific directories /usr/sap///work 

D. In the instance-specific directories /usr/sap///log 

E. In the system-wide directory /usr/sap//SYS/global 

Correct Answer: A 

 

QUESTION 15

SAP GRC solutions are comprised of three main areas of capabillities: Choose the correct answer(s). 

A. Avoid 

B. Analyze 

C. Monitor 

D. Manage 

Correct Answer: BCD 
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